

Prepared for City of Mauston

Managed Services and Cybersecurity

Quote#000642 v1

PREPARED FOR

Daron Haugh dhaugh@mauston.com (608) 747-2704 PREPARED BY

Bill Albertson balbertson@3rtnetworks.com (877) 779-1323



MS - Network Services

36 Month Contract

DESCRIPTION		RECURRING	QTY	EXT. REC.
LX-MS-FW-SM	Managed firewall service - small	\$150.00	3	\$450.00
	Small managed firewall service - proactive monitoring, maintenance, support & configuration changes (T)			
LX-MS-SW- ACCESS	Managed switch service - Access	\$150.00	4	\$600.00
	Access managed switch service - proactive monitoring, maintenance, support & configuration changes			
LX-MS-vWLC-SN	M Managed WLAN service - vWLC 1 to 24 WAPs	\$150.00	1	\$150.00
	1 to 24 WAPs managed virtual WLC service - proactive monitoring, maintenance, support & configuration changes			
		Monthly S	ubtotal:	\$1,200.00

MS - Server & Backup

36 Month Contract

30 MOHUI COHUA	301			
DESCRIPTION		RECURRING	QTY	EXT. REC.
LX-MS-SVR-AB- EDR	Managed server service - Automate, backup & EDR	\$175.00	4	\$700.00
	Windows managed server service with Automate, backup & EDR - proactive monitoring, maintenance, support & configuration changes			
		Monthly S	ubtotal:	\$700.00

Quote #000642 v1 Page: 2 of 5



MS - Workstation

36 Month Contract

DESCRIPTION		RECURRING	QTY	EXT. REC.
LX-MS-WS-AU- EDR	Managed WS service - Automate, Umbrella & EDR	\$47.10	45	\$2,119.50
	Windows managed workstation service with Automate, Umbrella & EDR - automated OS patching & limited support PLEASE NOTE THAT THE PER WORKSTATION COST OF \$47.10 WILL INCREASE BY \$11.00 TO \$58.10 STARTING YEAR 2 AND AGAIN BY \$11.00 TO \$69.10 STARTING YEAR 3 OF THIS			
	AGREEMENT.			

Monthly Subtotal: \$2,119.50

MSSP - Managed Cyber

36 Month Contract

DESCRIPTION		RECURRING	QTY	EXT. REC.
LX-MS-MXDR- UNL	Managed SIEM, SOC and MXDR with Unlimited Retention	\$20.00	49	\$980.00
	Managed SIEM, SOC and MXDR with Unlimited Retention			

Monthly Subtotal: \$980.00

Quote #000642 v1 Page: 3 of 5



Terms & Conditions

THE FIRST TWO MONTHS OF SERVICE OF THE FIRST YEAR OF THE AGREEMENT WILL BE PROVIDED AT NO COST TO THE CITY OF MAUSTON.

- 1. Prices are subject to change, without notice, in the event that the product manufacturer raises the price to 3RT Networks, LLC.
- 2. Payment term is "Net 10 Days" on all hardware, licenses and service contracts and will be billed upon verification of delivery.
- 3. Payment term is "Net 30 Days" on all 3RT Networks, LLC service hours and will be billed weekly.
- 4. Prices shown exclude taxes and shipping charges, where applicable.
- 5. Cabling: terminations, (re)configuration, testing and certification is not included in the pricing shown.

Acceptance and Incorporation by Reference

""Agreement") is between 3RT Networks (sometimes referred to as "we," "us," "our," or "Provider"), and the customer found on the signature block at the end of this Order (sometimes referred to as "you," "your," or "Client"). This Agreement is effective as of the date both parties have signed below (the "Effective Date"). Both Provider and Client are sometimes referred to individually as a "Party", or together as the "Parties". Any capitalized terms in this Order not directly defined are referred to in the applicable document identified on Exhibit A of this Order. If there is a conflict between this Order, the Master Services Agreement, any Service Attachment, or Exhibit, this Order will control.

By signing or accepting this Order, Client acknowledges, represents, and warrants that it has read and agrees to the terms and conditions identified on Exhibit A to this Order which are incorporated as if fully set forth herein.

The parties hereby agree that electronic signatures to this Order shall be relied upon and will bind them to the obligations stated herein. Each party hereby warrants and represents that it has the express authority to execute this Agreement(s). This Order supersedes all prior negotiations, proposals, orders, agreements and communications between the parties regarding Provider's Services.

Provider may make changes to the Agreement at any time. If there are changes, Provider will revise the date at the top of the document. Provider may or may not provide Client with additional notice regarding such changes. Client should review the terms and conditions regularly. Unless otherwise noted, the amended terms and conditions will be effective immediately, and your continued use of the Services thereafter constitute your acceptance of the changes. If you do not agree to the amended terms and conditions, you must stop using the Services immediately. Please note, you may incur a termination fee or other third-party fees, if applicable. You may access the current version of the terms and conditions at any time by visiting http://3rtnetworks.com/legal.

Master Services Agreement
Services Attachment for Managed Services
Data Processing Agreement
Service Level Objectives
Schedule of Services
Schedule of Third-Party Services
Service Attachment for Colocation
Service Attachment for Managed Security

Quote #000642 v1 Page: 4 of 5



Managed Services and Cybersecurity

Prepared by:	Prepared for:	Quote Information:
3RT Networks	City of Mauston	000642
Bill Albertson	303 Mansion Street	Version: 1

Bill Albertson 303 Mansion Street (877) 779-1323 Mauston, WI 53948 balbertson@3rtnetworks.com Daron Haugh (608) 747-2704

dhaugh@mauston.com

Delivery Date: 03/19/2025 Expiration Date: 04/09/2025

Monthly Recurring Summary

DESCRIPTION		AMOUNT
MS - Network Services		\$1,200.00
MS - Server & Backup		\$700.00
MS - Workstation		\$2,119.50
MSSP - Managed Cyber		\$980.00
	Monthly Total:	\$4,999.50

^{**}Please refer to last page for description of terms and conditions and Exhibits.

3RT Networks

City of Mauston

Signature:		Signature:	
Name:	Bill Albertson	Name:	Daron Haugh
Title:	Sales	Date:	
Date:	03/19/2025		

Quote #000642 v1 Page: 5 of 5